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Instructions

In each shape sudoku grid, 
fill each row, column, and 
dark-outlined shape* with 
one of each digit from 1 to 
9 with no repeats.

In addition to a handful of 
givens, the puzzles contain 
two clue types:

An X denotes a pair of cells 
that sum to 10.

A bar denotes cells which 
contain consecutive digits. 
(e.g. 1 / 2, 2 / 3 ... 8 / 9)

All possible clues are given 
in this set. In other words, 
two cells with no symbol 
between them are neither 
consecutive nor sum to 10.

* In the sixth puzzle, one 
group of 9 cells form a 
disjoint set.
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